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QUESTION 1

Given: 

Which two method implementations are correct, when inserted independently in line 1? (Choose two.) 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: AD 

 

 

QUESTION 2

Given: 
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What is the result? 

A. 5 

B. 3 

C. 23 

D. 25 

E. 11 

Correct Answer: B 

 

QUESTION 3

Given: 

Which loop incurs a compile time error? 

A. the loop starting line 11 

B. the loop starting line 7 

C. the loop starting line 14 

D. the loop starting line 3 
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Correct Answer: A 

 

QUESTION 4

Given: 

and omitting the throws FooException clause results in a compilation error. Which statement is true about
FooException? 

A. FooException is a subclass of RuntimeError. 

B. FooException is unchecked. 

C. The body of foo can only throw FooException. 

D. The body of foo can throw FooException or one of its subclasses. 

Correct Answer: D 

Reference: https://stackoverflow.com/questions/47871728/throwing-a-parent-class-exception-force-tothrow-its-sub-class-
exception-event-t 

 

QUESTION 5

Given the code fragment: What is the result? 

A. 23 

B. 12 

C. 123 

D. 13 
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Correct Answer: A 
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